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c=3x10%m/s

h =663 x 10734 Js

e=16x10"19C

n,=4nx 107 Tm A™?

g, =8-854 x 10712 C2N1 m2
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General Instructions :
(i) All questions are compulsory. There are 26 questions in all.

(it)  This question paper has five sections : Section A, Section B, Section C,
Section D and Section E.

(iti) Section A contains five questions of one mark each, Section B contains
five questions of two marks each, Section C contains twelve questions of
three marks each, Section D contains one value based question of
four marks and Section E contains three questions of five marks each.

(iv)  There is no overall choice. However, an internal choice has been provided
in one question of two marks, one question of three marks and all the three
questions of five marks weightage. You have to attempt only one of the
choices in such questions.

(v) You may use the following values of physical constants wherever
necessary :

c=3x10%m/s

h =663 x 10734 Js
e=16x10"1°C

n,=4nx 107 Tm A™?

g, =8-854 x 10712 C2N1m™2

1

4re
o

=9 x10° N m? C2

m, = 9-1 x 1073 kg

Mass of neutron = 1-675 x 102" kg

Mass of proton = 1-673 x 10727 kg

Avogadro’s number = 6-023 x 1022 per gram mole

Boltzmann constant = 1-38 x 10723 JK!
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Qs A
SECTION A

1. Tt Tl (ac) ufwy o, deafier dicedl do9 9/ o HAN: HE B -
V = 200 sin 300 t dlce 3T I = 8 cos 300 t UFRR | o1 9itaer i Wl
T 8 a1 I 2 e e |
In an a.c. circuit, the instantaneous voltage and current are

V = 200 sin 300 t volt and I = 8 cos 300 t ampere respectively. Is the
nature of the circuit capacitive or inductive ? Give reason.

2.  HUhIhd GOR HGEAT o WY T sAh ANG § X A1 Y died o A
%fF@Q:

— X » Y » o ———>

G Tohd eIl Hebdl
Name the boxes X and Y shown in the block diagram of a generalized
communication system :

y

—» X > Y Receiver |
Message signal Message signal

3.  Torelt < & g1 geai I Fhal BISATE THH (STeR) B | A7 T I86 I o o
Tuae T S, 9 E A wied gt qun g (TreR) R yeRr ufafda
Bt 2

The radii of curvature of both the surfaces of a lens are equal. If one of
the surfaces is made plane by grinding, how will the focal length and
power of the lens change ?

4. 3 SO HIETS o HIR (qld) q>1 FH o qR o Ifalg A9H § s’ 7,
T ¥ fopm ugrd & ar Fi T AfUew g 2 Ud I I g & forw wwor
faRam |

Two wires, one of copper and the other of manganin, have same
resistance and equal thickness. Which wire is longer ? Justify your
answer.
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5. U8 SIRG H T GATCH (o5 TR 1 & @6 guis 715 & | Q a1 P fawgati
o o9 TRt 37cq ouTTcAes 3TaW <hi fedrfast Setieti o 3=t 1 forg <= g 2

I I I gfee & fore wror feafin | 1

The figure shows the field lines of a positive point charge. What will be
the sign of the potential energy difference of a small negative charge

between the points Q and P ? Justify your answer.

Q
‘P
+
Y
g o
SECTION B

6. R URIY & I gREmE! T arars § Wik &’ ug ot gitriya Hifse | a5 wifke
& fopm &0 4 Yehe BIaT 3 ? gisT foh forpq Witk wem & =i @k foggg ama
ST 9Tl IR (FeReT shaeti) | Wtk &7 i =HaH S & ot I8 77w g b
3 A | ToEd 9T ohl dieedl i Afd 3= @1 AT | 2

Define the term ‘power loss’ in a conductor of resistance R carrying a
current I. In what form does this power loss appear ? Show that to
minimise the power loss in the transmission cables connecting the power
stations to homes, it is necessary to have the connecting wires carrying
current at enormous high values of voltage.
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gifeam & WagHt IS W1 & TR hl qUleed &l 71 589 nm 2 | 39
3AFLH <l TIfs Folt 3d hifore frees fog 2 st quresd 1 a9 oft gaar @
|

The wavelength of light from the spectral emission line of sodium is

589 nm. Find the kinetic energy of the electron for which it would have

the same de Broglie wavelength.

T e ol fRHl a%0 ¥ 90 cm G W T@ T 7 | Th Iqa @iF I o1 9
ﬁaﬁﬁ,ﬁﬁaﬁaaﬁa@ 20 cm%,ﬁﬁwaﬁ%aﬁﬂﬂﬁﬁwﬁg |
o <l Bid gl F1d HINT |

A screen is placed 90 cm away from an object. The image of the object on

the screen is formed by a convex lens at two different locations separated
by 20 cm. Determine the focal length of the lens.

(a) Taraifera Tifsreha s1ffshan # Z 9on A =1 7 Ryif i -

235 144 A
n+ 92U—> ZBa+ 36X+3n

(b) ARG g Tk Afufshan & Wi den ~Jgiai gFi 1 e Tifed
TEdl B, dl goqd fohd TohR ol H AT 8idT & ? T shiffu |

(a)  In the following nuclear reaction
235 144 A
n+ 92U—> ZBa+ 36X+3n,
assign the values of Z and A.
(b)  If both the number of protons and the number of neutrons are

conserved in each nuclear reaction, in what way is the mass
converted into energy ? Explain.



10.

11.

55/1/G

Y H Tose IV foh Aiamsd Seliwit # =R fhe TR BT 3 | 2
AAAT

IWE ¥ H9R U, 9 i fohm gt yorent (fafyr) =1 3w gran ® 2 @ fofa o

fohd YR o TUT TN T ST BT 8 ? hy AT hy, SHAAT & §F Tl &

&= SAfeehan st gl d % fow =eie fafen | 2

Explain briefly how communication takes place using mobile telephony.

OR

Which basic mode of communication is used in satellite communication ?
Which type of wave propagation is used in this mode ? Write the
expression for the maximum line of sight distance d between two
antennas having heights h; and h,,

@ us |
SECTION C

IE TMT T GNYY M@ § 10 puF & IR UG 1 500 V 6 qears 3 e
T 3 | Pt Hifse 3

(a) Jedeh (JTeTshH) I oI Tiear qe
(b) I TUT W & |

7 P.T.O.



12.

A network of four 10 uF capacitors is connected to a 500 V supply as
shown in the figure. Determine the

(a)  equivalent capacitance of the network and
(b)  charge on each capacitor.

500V

16 Q Uy o Th AR ! HIGH Teh I SR TR 8 | SHh! Th Yl & al
it & 9 v faga-aes 9a (3.00.T%.) & TH 9 & & 3R sig fom mn
2| 9 ¥ oft T 9 o u aiekferd I | 39 9t % Bl ¢ 9w D & =
favara sma HifT |

Ife 39 AR I GiT X G dEa18 9 THERH AR Hl T dR &= fear S
3R 3t A I I JR ST 7T 7 6T Teh 41 o i & «fi= g fean S,
a1 319 3o Tt forenut & &1 ol & < foavamax = g 2

D C
R
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A 16 Q resistance wire is bent to form a square. A source of emf 9 V is
connected across one of its sides as shown. Calculate the current drawn

from the source. Find the potential difference between the ends C and D.

If now the wire is stretched uniformly to double the length and once
again the same cell is connected in the same way, across one side of the
square formed, what will now be the potential difference across one of its

diagonals ?

13.  foreft s (IweR) H 65 x 107 4T 1 Thad Jrehid & faem™ 2 | 30 &9 |
T SAFH & O orread feum ° 48 x 108 m/s T I W YA HAT 7 | T
ST foh 389 ST 1 9% JATRR T 8 | JATHR HEl H 8k O ohl T
Fd HIVT | F1 AR Foagia ! =T T AR et @ 2 Taee HifT | 3

A uniform magnetic field of 6:5 x 104 T is maintained in a chamber. An
electron enters into the field with a speed of 4:8 x 10% m/s normal to the
field. Explain why the path of the electron is a circle. Determine its
frequency of revolution in the circular orbit. Does the frequency depend

on the speed of the electron ? Explain.
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14.

15.

55/1/G

T TNTY ARG TR TohE ! FR-TA T Th1¥T o 3T9d H B ] 39 diF
A TishareTi 1 §&9 § gu v 8 fagq-ares 9a (3.11.T%. ) 3¢9 8ial
2 | Toret Tme & fou 1 - v rfirenetfores osh SRy |

ROl & Ffomd (FW) & fau gerd &1 = w1 % o e @
HEwaqUl HTIGUE! 1 Ioai@ <hifT |

YT

899 4 guiq HIfS for Termer IcEsiss SRS (LED) &1 8 s-R™T Sl & 3R
3oehl HRIfAfY 6 e HINT | R deged foEd Sesi i qert |
e 3.€). (LED) & oiF e oy fafau |

Describe briefly using the necessary circuit diagram, the three basic
processes which take place to generate the emf in a solar cell when light

falls on it. Draw the I — V characteristics of a solar cell.

Write two important criteria required for the selection of a material for
solar cell fabrication.

OR
Describe briefly how light emitting diode is fabricated and explain its

working. Write three important advantages of LEDs over conventional

incandescent lamps.

I < fg-ferl T & sufaeo G W Sfed @l qun saEeg T THa
o g Ic9a forae et o i faweTeRil @gen i ga hITg TR Ieh!
@ HIT |

Compare and explain three distinguishing features observed in Young’s

double slit interference pattern with those seen for a coherently

illuminated single slit producing diffraction pattern.
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16.  TTEGISH YWY o SR o STOFRIN o ITAN H, ndll (n'h) FHET § FTah TG §Y
forell sorareia <t TIfaS Sett (K.E.) & ol oaeieh ocqd shifoe 3T gurise. foh
2

KE = —% W& r,, ndl e &l B 8 | ndl e # foufas st o

8ne 1y

Hefla o= ¢, § w1 Ty B 2 3

Use Bohr’s postulates of hydrogen atom to deduce the expression for the

kinetic energy (K.E.) of the electron revolving in the n'" orbit and show

e2

that K.E. = , where r_ is the radius of the n' orbit. How is the

8me T,

potential energy in the n'? orbit related to the orbital radius r,?

17. AND T2 (gR) 991 NOT e (gR) sl T R & 3TN g gurise fh
NAND 712, AND T2 @1 NOT ¢ &1 (35! h0 §) TISH 2 | 398 NAND
! YoIq™ FRU{ SH1ET |

NAND 73l (gRi) ol “|r&ie T S0 gl J1al 2 2 3

Using truth tables of AND gate and NOT gate show that NAND gate is
an AND gate followed by a NOT gate. Hence write the truth table of
NAND gate.

Why are NAND gates called ‘Universal Gates’ ?

18. 3T HIghetd (AM) T % 3cddl B ol TIC i o Toiu ferefl Tt ATgeteh
Teh Sclfeh TNE SATEY | o1 WTIgfoTd dohdi o1 81 €9 H JERUT foham ST wehar
3 259 il | 3

Draw a block diagram of a simple modulator to explain how the AM wave
is produced. Can the modulated signal be transmitted as such ?
Explain.
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19.

55/1/G

(a)

(b)

(a)

(b)

fopet TSR g 6 x 10'* Hz 1gfd &1 Tehavll yehrer 0= BT 7 |
Icdfoid Wik 1 AF 2:0 x 1073 W 2 | 39 9 g 3figad fohae Bl
g TehUe Icdfoia foht ST & 2

I ARG H, ¢ 9193l X qA Y o ¢ i fafentor shi g (v) &
iy e fawa v, & foae (qfEdT) g T g | Ak gl
AT W 3Adfad faferwn s quteed s &, i fohe a1q |, (38 91g
S AT ) AT TS Hall o SAFLAT DT IceiA BHTT 2 TISE HITT, |

Vo 4
X Y

0-5 1-0 v

Monochromatic light of frequency 6 x 104 Hz is produced by a
laser. The power emitted is 2:0 x 103 W. How many photons per

second on an average are emitted by the source ?

Figure shows variation of stopping potential (V) vs. frequency (v)
of incident radiation for two metals X and Y. Which metal will
emit electrons of larger kinetic energy for same wavelength of

incident radiation ? Explain.

VO A

0-5 1-0 v

12



20. (a)

(b)

(a)

(b)

HH AT fop forelt TR A 6000 A TG =T Tohre1 371 M & | 36 glanll
&1 favre i sma hifsre fraes a1figeres %1 =@ 250 cm 2 |

T fafet (feret) & o= it g (W) 1 mm 2 91 T 98 78 1 m
P W 2 | TE B Sl =e fehalt B =fe, drfer weha fer
I o g Ifess & i f-ferd et & 10 3fass wea &1 w1 2

Assume that the light of wavelength 6000 A is coming from a star.
Find the limit of resolution of a telescope whose objective has a
diameter of 250 cm.

Two slits are made 1 mm apart and the screen is placed 1 m away.
What should be the width of each slit to obtain 10 maxima of the
double slit pattern within the central maximum of the single slit
pattern ?

21. oTq I Th B hl AT 7 7 | THHT Th 60 91 o el Dol (T0F) & g
T &t fopen T 2 o gE o Bet it iy m e 2 | B & v omafa W
AR A1 8 | $Heh! JUM & ool h GHAA oh aFedd @ qdT Dol oh g o
B TORAT B | 30 U 37T&1 % THT Ush fERR 9T UHEH Traehia & B,
ECERCOLICE S

(a)

(b)

55/1/G

Frg A Bedd & o9 YNNG faga-aws 9a@ (3. .U®s.) & fou = 9w
T <hifTe |
gfe foar T 2 T o8 1 IfaUy ‘R’ ], @ 39 Wik bl A =1 BT 2

X X X X X X
xq@_

X

X X X X X X X
X X X X X X X

X X X X X

X X X X X

13 P.T.O.



A metallic rod of length 7’ is rotated with a frequency ‘v, with one end
hinged at the centre and the other end at the circumference of a circular
metallic ring, about an axis passing through the centre and
perpendicular to the plane of the ring. A constant and uniform magnetic

field B parallel to the axis is present everywhere.

(a)  Obtain the expression for the emf induced between the centre and

the ring.

(b)  Given that the rod has resistance ‘R’, then how much power will be

generated ?

X X X X X o
metallic ring

X X X X X X X
X X X X X X X
X

X X X X X X

X X X X

X

22. TUFRR o AYehihd INUfd Fam & fou =oek fafae | 3ugw® 3qwn 6
TERIAT § GHI-3TA UG o Wewd i T8 HIT |

Write the expression for the generalized Ampere’s circuital law. Through

a suitable example, explain the significance of time-dependent term.

55/1/G 14



Qus 3T
SECTION D

23. BN 39w e & u fya fordlt foemerm @ 104 (qudl) e &1 9= 7 | 3HH
TSt A 3H SRHHEI-IH Ueh HIgihd SUER H & | 98 I§ SRt UHId &l T
fop 319 o8 Tq 4 AEfhd =T gY dod AT B TSH W IS TEGH] hl TR
@ gohdl 3 | foheg, 38 98 10 781 o1 o6 I8 Sl 68 &R Al 8 | 3UH I8
T 79 ek @ g1 | ek 3 g 6 39 A ol SRl < wrifafy i gh
HeTT <hl THSAT hl Teh ITIET HHT |

frfeTRga st = 3T e 4

(a) SREA % g 997 3Teh! HEIfaTY &1 3g@ i |

(b)  BR qu1 Iueh fo fieres gra welkia g1-al qeail 1 Ieei@ Y |

Hari is a student of Class X in a school near his village. His uncle gifted
him a bicycle with a dynamo fitted in it. He was thrilled to find that
while cycling during night, he could light the bulb and see the objects on
the road clearly. He, however, did not know how this device works. He
asked this question to his teacher. The teacher considered it an

opportunity and explained the working of a dynamo to the whole class.
Answer the following questions :
(a)  State the principle and working of a dynamo.

(b)  Write two values each displayed by Hari and his Science teacher.

55/1/G 15 P.T.O.



24.

55/1/G

(a)

(b)

(c)

(a)

(b)
(c)

(a)

(b)

(c)

(a)

(b)
(c)

Qus g
SECTION E

TEHE 6 Sl & g w fafae | suge sm@t i dgEa @
29risy fop forell St graw i § R fre TR oS S & |

foret armeyt grawiit & fow, seeht mfies e fodioes Sefoat & &
1 g & vai °, (i) ffa qen fasht dieearstt s Gi) freta qen fash
gt & o= AU o T =Iereh eud HIfT |

qrEdfaeh JABIEU § Ho1 &9 o &I Gid o1 § 91 $7eh! HH hd fohal
ST 8 ?

HAYAT

I Hect gREM (Hed-rdiet) i Teh THIfhd TG FHISY, | 8 B
S 1 figra fIfau | so8 T T4 g o i 1 o1 T g ?

(i) & GITTEAT Qe (ii) deedn gumtgar ugi 1 afemn € |

fopel} Treamiet 1 (i) Sieedier | 9T (i) UHIeX # FUT=ING i & g
Tk g i ¥ ST |

Write the principle of working of a transformer. Show, with the
help of suitable diagrams, how the windings of a step-up
transformer are done.

Assuming the transformer to be an ideal one, deduce the
expression for the ratio of (i) output voltage to input voltage and
(i1) output current to input current in terms of the number of turns
in the primary and secondary coils.

What are the main sources of energy loss in actual transformers
and how are these reduced ?

OR

Draw a labelled diagram of a moving coil galvanometer. State its
working principle. What is the function of a cylindrical soft iron
core used in it ?

Define the terms (i) current sensitivity and (ii) voltage sensitivity.

Explain the wunderlying principle used in converting a
galvanometer into a (i) voltmeter and (ii) ammeter.

16



25. (a) YU AN TEdH I INEeHT % §WE B % T STEvEs Sl
(wfcaei) o1 Iect@ HiferT |
(b) U Tortor TR@ i T § ST foh IS Hid & THHONT qufgaTg
{9 T 39T Ieer Ufdfars UTed od § ford JhR BT B |
(c)  3TEvTeh NG i TRl § T&q H ¥qse Shifu foh qui stmafies queda
Sl gt &1 I ThIReh dqeli § <y BT 8 | Teh 3aTel ohl

gl § HHSS, foh TehTiSTeh Tl b1 SUANT YehTi3reh Heohdl oh SETUT

(T=ruT) | hy B GehdTl 7 | 5

AT

(a) At =0 R fopelt T 1 3R feam 7= |1, a1 98 quiA & fou ST
G FATEY o6 ¢ = t, T AT o TR ol BTE hl SATHAT T
<1 TR & e TohAT ST Hehall B |

(b) Torelt Tuder oy % foRer ieaw | weH miey B Yoy (TReT) W foem
A §U A o a1 A HIT | iz fop foRet T T
o HIEIH H IUadH | 3Geh! qUTeed qT HeRUl =« Hedl @, foheg
3Heh! AT I8! Wl 7 | 5

(a)  State the essential conditions for the phenomenon of total internal

reflection to take place.

(b) Draw a ray diagram to show how a right isosceles prism made of

crown glass can be used to obtain the inverted image.

(c) Explain briefly with the help of a necessary diagram, how the
phenomenon of total internal reflection is used in optical fibres.
Ilustrate giving an example how optical fibres can be employed for

transmission of optical signals.

OR

55/1/G 17 P.T.O.



26.

55/1/G

(a)

(b)

(a)

(b)

(a)

(b)

(c)

Draw a suitable diagram to demonstrate that given the shape of a
wavefront at t = 0, its shape at a later time t; can be obtained

using Huygens’ geometrical construction.

Consider the propagation of a plane wavefront from a rarer to a
denser medium and verify Snell’s law of refraction. Show that
when a wave gets refracted into a denser medium, the wavelength
and speed of propagation decreases but the frequency remains the

same.

“Torgq Foted’ 9g hi IRETYT ST | 38T TELITE. (S.1.) e fofen |

fopeft forga-@m & srema fiu T B, = ox, B, = 0 @M E, = 0, 7& «
ush forfar foommes 2 | 95T gl U o § uF (ge) W S e’ B |
38 TS ad § TSI dTel Tl 1 ql 38k Mol THTE SIS o
qRehe T |

y

1
X
a a
a
zZ

AT

THfIYE g58 i TR T | FEfave ge8 o TRt fomg W forga-am
1 fean 3w fog W I8 & <ifirersad w1 At } 2

ferelt forggd, foya o wmor Tmfava st =it gifsw | omawt & ¢ft % e
H IR TS I8 gL 1 & S & 2

3g fgga & forw, x & @1y fawg v & qftada 1 goia & foe s o
(ATIG) TRY, TE x (x >> 2a), & QA I A4 dqret W &

H@%ﬂ,ﬁ%@ﬁﬂ—qﬁ@%l
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(a)

(b)

(a)

(b)

(c)

55/1/G

Define the term ‘electric flux’. Write its S.I. unit.

Given the components of an electric field as E, = ox, E; = 0 and
E, = 0, where o is a dimensional constant. Calculate the flux
through each face of the cube of side ‘a’, as shown in the figure, and

the effective charge inside the cube.

e

n

a a
a

Z

OR

Define equipotential surface. Why is the electric field at any point

on the equipotential surface directed normal to the surface ?

Draw the equipotential surfaces for an electric dipole. Why does
the separation between successive equipotential surfaces get wider

as the distance from the charges increases ?

For this dipole, draw a plot showing the variation of potential V
versus X, where x (x >> 2a), is the distance from the point charge

— q along the line joining the two charges.
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